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KS2 Arithmetic 

4879 
X  79 

 
 
 
 
 
 
 

7698 
X  86 

 

7986 + 5987 
       
                    

7986 - 5789 

 

7794 ÷ 9 
 

6976 ÷ 8 
 

6979 ÷ 7 
 
 
 
 
 
 
 
 

96.25 + 58.794 
 

79 – 38.76 
 

75 x 0 = 

1 x 49 = 

 34 +       = 68 

    63 -       = 34 

- 28 = 27 

53 + 82 = 

      112 - 72 = 

8598=8000+          + 88 

 

MMDCCCIV= 
 

3549= 
 

23.45-12.59+19.6 
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53% of 750= 83.5x100 =   
496 ÷ 100=   
89.5 x10  =   
81.9 ÷ 10 =   
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40÷8 + 5x6 = 

4 x 12 – 8 x 3= 

0.9   84 = 

0.3 x 94= 

-10+12= 
12-19= 
-7-11= 
-4-21 = 
+19-19= 
-21+17= 

-11 x 9= 
-4 x 12 = 
-12 x -9= 

-28 ÷ 7 = 

-72 ÷ 9= 

108 ÷ -12= 
 

8471 ÷ 43= 

 

 

 

    

    

    


